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. IC Basic Knowledge Related Questions e, T
1.  Please describe the ASIC design flow from SPEC to GDSII.
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2. Please explain the setup and hold check, by using T1, T2, T3, T4 and clock period
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3. Please explain the basic difference
explain the basic pipeline of CPU.
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lll. Design/Verification/SoC Questions (choose 2 4 questiop‘;s"‘vtq_answer

1. Please list how to reduce power in the entire ASIC des,iidn.ﬂo'fw from SPEC to .GDS{II_.
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2. How to take’ii=d§’ii _;5f;;§§’iﬁ’g:|e-bit signals from different clock domain? What about
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3. Please explain why DRAM requires periodically refresh but SRAT

what is CAS latency, Addictive latency, and the relationsh
these two latencies. el

l

=

|
. =1 R
B A

g
6=,

i

: -.'-: ) iy

—
N

| ..I | Bl '1'-F'l-'|; u:-
y . N ; "-.‘!I' 'I.":-:‘ el =B\
W - il _.-:' - f,‘ Il .F-._-:.*- f.“
i e, s JUSh o e )
LIS
_'.';' .',. 3 -1:_
- . g Y S
e L_ " o .-'I'l"— ','-':i"i-:-'rk-,r = b :F'__q-
LA s oy SR TN 2R S
_ ' ' s AR ST o e P 2T
. | gl TR i % L..;_JI = I I_r
: RALT b § A V<1 RIAE j|"‘1._.'_-', -"-E‘...
L ’ . = ‘I.f‘-__." l-.r'.'," i y g g . %1 ‘.‘ .
: ~ - -I- -\:'I'-'\-_ o .:-I.-LI" ;lll""—..:rllrrl- "'..l—'h-"|| ..'ti—-r
SO S 1 e B gt o | ] i
: ' N g e 'j.r- |I Ili. r:r‘.- !r\.i-r'j :‘i'll "-_::-‘ﬂ:’l.:,?:i:‘
: :'- ¥ .-hi..-, § " = .; | .'.
. - _1_J..|. "E -l'i*;-_i}‘r_’

4
Rt

4. Please design a module to detect serial data sequgn‘c_e“‘f‘fﬂ,
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When serial sequence “1001” is detected, the outp
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Please draw out the State Mach)ipe,f“agﬁd implement it in Verilog/VHDL.
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5. Please explain a“)?ﬂbasggi idea of DFT, b) the difference between a_
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basic DFF; and ¢) why should scan DFF be used?
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